\Y4
/ DA. 0{% Multiply decimals by powers of ten

Name: Date: Score:
4.412 x 1000 = 5.076 x 10 =
1.158 x 1000000 = 4.919 x 100000 =
6.298 x 100 = 9.402 x 100000 =
8.794 x 1000000 = 8.912 x 1000 =
5.283 x 10000 = 3.5x10=
2.101 x 1000000 = 4.285 x 10000 =
5.46 x 100000 = 7.175 x 10000 =
3.265 x 100000 = 5.619 x 10000 =
9.941 x 100 = 9.887 x 10000 =
8.539 x 10 = 5.526 x 100 =
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u\/ IEA. &% Multiply decimals by powers of ten

Name: Date: Score:
4.412 x 1000 = 4412 5.076 x 10 = 50.76
1.158 x 1000000 = 1158000 4.919 x 100000 = 491900
6.298 x 100 = 629.8 9.402 x 100000 = 940200
8.794 x 1000000 = 8794000 8.912 x 1000 = 8912
5.283 x 10000 = 52830 3.5x10=35
2.101 x 1000000 = 2101000 4.285 x 10000 = 42850
5.46 x 100000 = 546000 7.175 x 10000 = 71750
3.265 x 100000 = 326500 5.619 x 10000 = 56190
9.941 x 100 = 994.1 9.887 x 10000 = 98870
8.539 x 10 = 85.39 5.526 x 100 = 552.6
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